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ocnNsSRYRsez 350,000 %13 350
o5 HIHAR 150,000 %13 150
OAIEEHISXIY 37,395
o253 2 ASKXIL
10,000,000 * 1Al 10,000
o0 AR353|2 MI|&H SIS
300,000 x4 543 4,800
CHAREE T AUAL X224
250,000 x8E+23] 4,000
o8 25I5| 2 JIHAH RSB
1,000,000 x3F5 13 3,000
oH2532 B S HIESA I
5,0002%1,350m x13] 6,795
oA 2532 SAEH SRES
300,000 x35*23] 1,800
o253 FEA S izl
1,000,000 23] 2,000
oUH 23T =SANES RXI 2
2,500,000 23] 5,000
03 #HAr2 Y] 2,700 2,700 0
OSI&T2 08 2AF 328
2,700,000 %13} 2,700
301 L2 330,844 330,844
11 #AFAHIXIR S 6,844 6,844
Ost&EZ 208 A S JHE 2H X
5,404,000 14! 5,404
O0A 25312t NSAAF 2t Y| 24
12,0002 x40 2 x33 1,440
14 1Bt AS 324,000 324,000 0




SN OIS
HE: RS (MEEX /IS - 014)
=Rl g 2stel2 29 (Cte M)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
ONWLEatal2t ZA =2
90,0003 *40H x9 10 324,000
405 Rt S| 5,000 5,000
01 AL = SF S| 5,000 5,000
OO 2ss|2 StaTR Y HIE 2
5,000,000 14 5,000
HAZE - 23S - =08 SX X2 4,594,536 4,588,301 6,235
= 1,8%4,200
| 678,954
= 482,056
Al 1,539,326
NEHH 29 496,100 475,700 20,400
| 219,700
& 65,910
Al 210,490
307 gIztol 496,100 475,700 20,400
| 219,700
& 65,910
Al 210,490
05 QIZtRIErZ 496,100 475,700 20,400
OJ=dH 29 439,400,000 * 14 439,400
J| 219,700
& 65,910
Al 153,790
ONELEH SAK HR NS =5
56,700,000& * 14! 56,700
NEHE SAHA S 34,560 33,480 1,080
= 10,368
Al 24,192
307 2I2+01A 34,560 33,480 1,080
= 10,368
Al 24,192
05 QIZtRES 34,560 33,480 1,080
OMNEHH BALR EE4Y
34,560,000 & 14! 34,560
& 10,368
Al 24,192
F 2] JtE XA (7 Itssded) 322,180 168,750 153,430
| 161,090
& 48,327
Al 112,763
307 QI2Hol ™ 322,180 168,750 153,430
J| 161,090
& 48,327




2N

X ZH -
o=

e ol =X K& (S &)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
Al 112,763
05 QIZtRES 322,180 168,750 153,430
Ol - IIE K
322,180,000& 14 322,180
J| 161,090
= 48,327
Al 112,763
orolE=s N 2,706,000 2,706,000 0
= 1,894,200
= 243,540
Al 568,260
307 212+01 A 848,555 848,555 0
= 593,989
= 76,370
Al 178,196
05 2I2tRES 848,555 848,555 0
OOlISEXAAIY 2
848,555,000& » 14! 848,555
= 593,989
& 76,370
Al 178,196
308 AEXIHMSOIH 1,857,445 1,857,445 0
= 1,300,211
& 167,170
Al 390,064
13 3|2 SHIHEHE & &2 E ALY 1,857,445 1,857,445 0
OOl0ISS 018 H2XRS ASIREHR
2 oEZ 1,857,445,000 3 14! 1,857,445
= 1,300,211
= 167,170
Al 390,064
Ol0I= 20| AZHEH| X (ZHIAIY) 1,655 3,600 A1,945
= 500
Al 1,155
307 212+01 A 1,655 3,600 1,945
& 500
Al 1,155
05 QIZtRIEIS 1,655 3,600 1,945
OOHI=£0| HZH&Hl XA
1,655,000 3 14! 1,655
& 500
Al 1,155
3s=0tLsH &X - 29 113,424 109,692 3,732
| 56,712




M HEIEL
B OlERUSH(MEI=RI/ILES - 014)
Cel: 2201E - OIS - 9=eF =21 X (ci9): @2
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
T 17,012
Al 39,700
307 2I2+0l™ 113,424 109,692 3,732
| 56,712
& 17,012
Al 39,700
05 QIZtRIErZ 113,424 109,692 3,732
O3s=H0tUsH 29 222 X3 (2MHA)
113,424, 0003 * 14| 113,424
| 56,712
& 17,012
Al 39,700
CE22ts AHHAHEE X2 78,680 78,680 0
| 39,340
& 11,802
Al 27,533
307 212+01™ 78,680 78,680 0
J| 39,340
& 11,802
Al 27,538
05 CIZtRIEr S 78,680 78,680 0
OU=2st=E IHAHE Y K&
78,680,000 14| 78,680
J| 39,340
= 11,802
Al 27,538
CEshts 4EusMdlAs K& 220,980 220,980 0
J| 110,490
= 33,147
Al 77,343
307 212+01 A 220,980 220,980 0
| 110,490
& 33,147
Al 77,343
05 01t Er 2 220,980 220,980 0
OCh23ts $2us AdlA X
220,930,000 *14] 220,980
| 110,490
& 33,147
Al 77,343
ZE0|2UX SHAAMHIA XA 32,813 32,813 0
| 16,407
& 4,922
Al 11,484




SN OIS
HE: AT (MEIZT/IHES - 014)
Cel: 2201E - OIS - 9=eF =21 X (ci9): @2
RN B - SRA(SH) - MISAR - BES 0fl &t e HIDEY
307 212+01& 32,813 32,813 0
Il 16,407
= 4,922
Al 11,484
05 glzt?(& = 32,813 32,813 0
OZE&0|2A SHIAMEIA K&
32,813,000 * 14! 32,813
Il 16,407
== 4,922
Al 11,484
o= =X 35,031 35,031 0
Jl 17,515
= 5,255
Al 12,261
307 212+01™ 35,031 35,031 0
Il 17,515
= 5,255
Al 12,261
05 elzte(& = 35,031 35,031 0
Oolsol u=sA
35,031,000 & x14! 35,031
Il 17,515
= 5,255
Al 12,261
ZE012X SR 24,500 24,500 0
Il 12,250
< 3,675
Al 8,575
307 212t01™ 24,500 24,500 0
J| 12,250
S 3,675
Al 8,575
05 eIzZte(&r = 24,500 24,500 0
OZ&0I2Xt Szt K&
24,500,000 * 14! 24,500
Il 12,250
S 3,675
Al 8,575
ODt= oelold Ch2stolowa 29 10,800 10,800 0
= 3,240
Al 7,560
307 212t01™ 10,800 10,800 0
== 3,240
Al 7,560




M
X ZH -
o=

=Lk

SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
05 2IZteEer g 10,800 10,800 0
O 0tk Helold ChEstoloiua 29
10,800,000 * 14! 10,800
= 3,240
Al 7,560
2202104 M0 29 18,176 21,840 A3,664
& 5,453
Al 12,723
307 212+01™ 18,176 21,840 A3,664
T 5,453
Al 12,723
05 IZte e 3 18,176 21,840 A3,664
OZ=012Hd A2E=201 2
18,176,000 & * 14! 18,176
= 5,453
Al 12,723
Z20I12I4 2E5HS HIE K2 9,900 9,900 0
& 2,970
Al 6,930
301 LPENSZ 9,900 9,900 0
& 2,970
Al 6,930
02 AN 2EASHS(HUAHS, NYTHA) 9,900 9,900 0
OZ=0I2X SEH=HIE K2
300,000& *33H 9,900
= 2,970
Al 6,930
CE23PE Fgus L A2 29 17,000 17,000 0
307 212+01 A 17,000 17,000
05 QIZtRIEr 17,000 17,000
OU=2sht=E HPEus K&
12,000,000 14| 12,000
OobtizsteMz 29 5,000,000 * 14! 5,000
&2 C=gstn 29 32,440 32,440
307 QIZt01 A 32,440 32,440
05 CIZtAEr 2 32,440 32,440
OXe Ci=steu 2%
32,440,000 14! 32,440
CI230|F0EHAHH 29 6,000 6,000 0
307 212+01™ 6,000 6,000
05 QIZtRIEr 6,000 6,000
OUR2S0IFRIEHAHEH 2
6,000,000& * 14! 6,000
Ct22tE i K& A 90,900 90,900 0




2N

B OlERUSH(MEI=RI/ILES - 014)
Cel: 2201E - OIS - 9=eF =21 X (ci9): @2
A - FHY . S2(3) - HRAY - BES Ol ke e HlmS2
| 45,450
& 13,635
Al 31,815
307 QI2tol A 90,900 90,900 0
| 45,450
= 13,635
Al 31,815
05 QIZtRES 90,900 90,900 0
ORZEAHKIA 46,700,000 14 46,700
| 23,350
= 7,005
Al 16,345
OJ|=&sXHA 44,200,000 14 44,200
| 22,100
& 6,630
Al 15,470
Ch230tE Al ¥ Bl X1 40,000 40,000 0
307 QI2H0| A 40,000 40,000
" ASI=XAIEEE 40,000 40,000
OU£CI2S=XR A
10,000,000 * 11 A %42 7| 40,000
2FCIFRSEAMEH 2 227,397 227,397
201 et | 2,000 2,000
01 At 22|l 2,000 2,000
OW==Al A2IHE RS 2A=2=F81S
X2z A
100,000 *10E *23] 2,000
202 04d| 960 960
01 =WOdbI 960 960
OO ==Al 22018 UESHE 213010l
2y g7
20,0003 2 25|« 128 960
307 QI2Hol A 224,437 224,437
02 QIRHHAAIHE X 9,000 9,000
OO0 ==0I=FCIHIH CH23tRI& A
9,000,000 14 9,000
05 QIZtRIErZ 215,437 215,437 0
O0I#Al QZQIFOIZERAME 2
215,437,000& * 14! 215,437
Moel=0l & CHE3IHE &H0tY &AL 20,000 20,000 0
307 QI2H0l A 20,000 20,000
04 CIZISHAIAIRIE X 20,000 20,000
OMo2=0el & THE3ItS 8Hote AL
20,000,000& *13] 20,000




M OlEIIEDL
T2 RS (A= - 0l
SHRl: AADNY - CHESIIIE - =010

A=A A EER=E))
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
O{==0|=0IHIE] SOt SHAL 7,000 7,000 0
307 2I2+01 ™ 7,000 7,000
04 QIZHHAIAISE E X 7,000 7,000
OO0 ==0[ZF=0IMIE SOt AL
7,000,000& *13] 7,000
Ch2st |44 =726 22 K& 8,000 8,000 0
307 212+01 ™ 8,000 8,000 0
02 QIZtAAAIEE R 8,000 0 8,000
OURs SAE E72¢ 29 18
8,000,000& » 14! 8,000
Ct=23t gotstu 29 20,000 20,000 0
& 6,000
Al 14,000
307 QIZt01 A 20,000 20,000 0
= 6,000
Al 14,000
05 CIZtRAErZ 20,000 20,000 0
OUI2s 2otetn 2
20,000,000 & 14| 20,000
& 6,000
Al 14,000
220|048 2=2UE AL 21,000 20,000 1,000
& 6,300
Al 14,700
307 QIZt01 A 21,000 20,000 1,000
= 6,300
Al 14,700
05 2I2tRES 21,000 20,000 1,000
OZE0IF04 222 A
21,000,000 3 14| 21,000
& 6,300
Al 14,700
B OISKA(MISX/ER) 105,064,834 106,181,235 1,116,401
= 46,480,956
= 2,649,933
| 115,463
& 30,312,097
Al 25,506,385
Ots=RXlI K& 30,927,591 32,399,065 A1,471,474
= 11,867,444
ray 2,649,933
| 115,463
& 4,214,005
Al 12,080,696




2N

M B OISKA(AEIEX/ER)
=elr Ol S=A A2 (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
XNE0ts4le 298| XA 4,308,000 4,308,000 0
iy 2,154,000
& 646,200
Al 1,507,800
307 212+01™ 4,308,000 4,308,000 0
= 2,154,000
& 646,200
Al 1,507,800
10 Al =S XA LB ER2IHIE X 4,308,000 4,308,000 0
OXIY0t=s4le 298 XA 4,308,000
o2%d| K& 858,000,000 * 14! 858,000
= 429,000
& 128,700
Al 300,300
o olAHH|l XI& 3,450,000,000: * 14 3,450,000
= 1,725,000
& 517,500
Al 1,207,500
XE0otsdle 22l =K 746,032 210,744 535,283
T 223,810
Al 52,222
307 2I2+0l™ 746,032 210,744 535,288
& 223,810
Al 5e2,222
10 AISISXAIEHE2ZHIEX 746,032 210,744 535,288
OXIG0otsHIE elAdl FIHKIE
746,032,000 * 14 746,032
& 223,810
Al h22,222
XSotsdlEe X2 3,500 3,500
201 B2 AY| 500 500
01 A=R2teld| 500 500
OXIHOISHEI ISl EAAY
500,000 * 14! 500
307 QIZt01 A 3,000 3,000
02 QI BAAIEER 3,000 3,000
OXIG0tsHE SAK 225 295 Xl
& 3,000,000& * 14 3,000
XeotsHE 89 MAXS(ZHIEX) 2,354,000 2,354,000 0
& 471,832
Al 1,882,168
301 LB F 216,240 216,240 0
T 34,344




FA: HEIoED
HE: 25 OIS (ME=X/ES)
=elr Ol S=A A2 (Cte M)
SA - ZE - BRA(20) - IRA - B ofl et e HImE2
Al 181,896
14 IIEt2 8= 216,240 216,240 0
OXNS0ISHE SAHL S8+
114,480,000 *14] 114,480
= 34,344
Al 80,136
ONHOISHEN BAXE SEAEH(XR)
101,760,000 * 14! 101,760
307 lztol & 2,137,760 2,137,760 0
= 437,488
Al 1,700,272
11 AMEISXAEEXS 2,137,760 2,137,760 0
OXIg0ot=s4HlEe =48l XA
7,0002 %1,040H 280 2,038,400
= 407,680
Al 1,630,720
OXIS0ISHIE SAZR0| XY
2070002 x40 2+ 12 99,360
< 29,808
Al 69,552
ASotsHdE S+==8d X 65,772 65,772 0
= 32,886
< 16,443
Al 16,443
307 elztol & 65,772 65,772 0
[ 32,886
== 16,443
Al 16,443
10 Al2ISTIAIEEE 22X 65,772 65,772 0
OXIOISHE S+SHE X2
65,772,000 * 14| 65,772
= 32,886
== 16,443
Al 16,443
KN 0tsHE EQ2F X 14,400 19,200 24,800
= 7,200
s 3,600
Al 3,600
307 21201 & 14,400 19,200 A4,800
s 7,200
= 3,600
Al 3,600
10 Al SAAZEE 22X 14,400 19,200 24,800




M HEIEL
M B OISKA(AEIEX/ER)
=elr Ol S=A A2 (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
OXIOIEME EQe 2|
14,400,000 3 * 14! 14,400
ax 7,200
& 3,600
Al 3,600
NG0otsHdH JlsE2 50,000 45,000 5,000
= 15,000
Al 35,000
402 QI2H X201 ™ 50,000 45,000 5,000
& 15,000
Al 35,000
02 DIZERHZ AN S X (IR TR ) 50,000 45,000 5,000
OXIHOISHIE JIs2Y
50,000,000 14| 50,000
& 15,000
Al 35,000
NSG0tsHEH BAICH] S22 K& 193,650 224,050 A30,400
= 36,150
Al 157,500
307 2I2+01 A 193,650 224,050 230,400
= 36,150
Al 157,500
02 QIZHAAAIEER 193,650 224,050 230,400
OXI0tSHE ZBAICZ] S8 X 193,650
=JllE2a 157,500,000 * 14 157,500
cAUEE 18,150,000 & * 14! 18,150
& 18,150
ISIME=:]l 18,000,000 14| 18,000
T 18,000
KEotsHlE gl X2 23,520 23,520 0
307 212+01™ 23,520 23,520
10 Al =S XA EEHE2IHIE X 23,520 23,520
OXI0t=sHIE HLHEH] XA
23,520,000 3 14| 23,520
XNE0ts4lE 01 Ot= Stote &AL 15,000 15,000 0
307 2I2+01 ™ 15,000 15,000
04 QIZHHAIAISE B X 15,000 15,000
OX<SG0otsHIH 0120t S0t &AL
15,000,000 * 14! 15,000
XE0otsHE OtssSXI WAL oA K& 63,043 56,319 6,724
= 28,719
= 8,616
Al 25,708
101 214 d| 57,539 50,535 7,004




2N

HE: 25 OIS (ME=X/ES)
e olEsEA N (Cte M)
SA - ZE - BRA(20) - IRA - B ofl et e HImE2
s 28,719
= 8,616
Al 20,204
04 JIZtN2 2N sSE+ 57,539 50,535 7,004
OOE=XRAL T121 X
1,435,970 x5 H «8E 57,439
s 28,719
= 8,616
Al 20,104
OOIS=AIUA 22 0S|
20,0003 5 x13] 100
201 er= 3| 2,464 2,664 A200
01 AtR2t2l] 2,464 2,664 A200
ER=last=ull 1,200
o0tS=X WAL HRFA2EH|
1,200,000 14! 1,200
O=23+¢ 400
oOtSSXN WAL WS 2A+E
400,000 *14] 400
O=aitl 864
S OtS=XIWAHXISHALEI S XA SAH|
9000 =82 +123 864
202 048l 3,040 3,120 N80
01 2L AL 3,040 3,120 A80
OOSEXWAHXIGAZIZEXIA) HRFX
(Gha] 20,0002 x10Z* 122 2,400
OOtS=XNWAHSRA) s T o]
0,000& *32& *12] 640
CEAHRE OtSSeSAtedl2tel A& 265,767 265,257 510
= 143,128
< 10,734
Al 111,906
201 er23| 24,320 23,840 480
[ 19,456
== 1,459
Al 3,405
01 AtR2telbl 22,320 21,840 480
OEEARE HRFA 23|
9,000,000& *14] 9,000
= 7,200
== 540
Al 1,260
OLEHAEE OtSSEAHZCIAL SAMHI
9,000 x4 *10&* 122 4,320
= 3,456




2N

¥ 2= OISAF(ME=X/ER)
=l Ols=A A= (St &)
SA - ZE - BRA(20) - IRA - B ofl et e HImE2
=S 259
Al 605
OSYAEE 29128 819 HM2Y
150,000 8 1,200
[ 960
== 72
Al 168
OOIS=XDIZEAM 3|2 AL
750,000& *42] 3,000
= 2,400
== 180
Al 420
OSZAEE, ATHHIF #HUOIN K24
g 400,000 42| 1,600
= 1,280
& %
Al 224
Oxteg extz 800,000& 42 3,200
= 2,560
== 192
Al 448
02 S5=4g4l 2,000 2,000 0
OZzZe3 ¥ HA 2,000
SCEAEE 29 z2ea
2,000,000 %14 2,000
s 1,600
= 120
Al 280
202 04dl 13,240 13,240 0
s 10,592
= 794
Al 1,854
01 =LHAHI 13,240 13,240 0
OO0tSSEAtal2tel At 0Bl 13,240
oOtSSEAtAIZ2IAL Atdl2te] RFE
20,0003 x4 x10€~ 122 9,600
[ 7,680
= 576
Al 1,344
o ANG Atefl2te] HRFA
50,0002 x4 +23] 400
[ 320
= 24
Al 56




2N:
X ZH -
(=T I

chel:

S - B - SR(3) - NRAY - BES

Ofl &toH

dET
Ofl &tk

oOlSSE A2 s & 35 &4

1] 3,240,000 14

Mo

=

3,240
2,592
194
454

206 =4I

SRR

5,950
4,760
357
833

5,950

01 =4l

OZ2Id 29 ME el
5,950,000 * 14!

SRR

=

5,950

5,950
4,760
357
833

5,950

Mo

218,107
105,000

7,875
105,232

218,077

01 AISIEBEXAGIS(2DEXZTE)
OS2 AEL 2IO(HZ - QX - A - It
z) 2¢ 56,594,000 x 14!

=

Qn

> 1m
0 |q

11 SEAAHIXIES

OSEAEE Z2NH(NEES S)

u 36,283,000 *14]

14 J|EtE2 8 =S

OEEAEE IH2SA

o
o
(=

11,0002 * 102 +32

OEEAEE Z208 2H(JAY S

SRR

=

SRR

=

SARNEY

=

Mo

=

156,594

156,594
55,790
4,185
96,619
36,283

36,283
29,026
2,177
5,080
25,230

330
264
19
47

24,900
19,920
1,494
3,486

156,594

36,283

25,200

307 21to1™

SRR

4,150
3,320
249

4,150




FA: HEIoED
&5l ots=EX

S=A A2 EER=E))
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
Al 581
01 22 & 35| 4,150 4,150 0
OEEAEE SEAd2CItHAR 2/Z2d| K
& 4,150,000 & * 14! 4,150
= 3,320
= 249
Al 581
ots==4Y XA 12,818,040 15,521,916 A2,703,876
= 10,254,432
= 769,082
Al 1,794,526
301 LEBNZ 12,818,040 15,521,916 A2,703,876
= 10,254,432
& 769,082
Al 1,794,526
01 AISIBEH 2GS (ZLEZME) 12,818,040 15,521,916 A2,703,876
Ooots=4< 12,818,040,000& * 14! 12,818,040
= 10,254,432
T 769,082
Al 1,794,526
=g sHE Ots=Y XIE 312,000 312,000 0
301 LetENZ 312,000 312,000
2 A BEHHZ(FHAAHS, KYHA) 312,000 312,000
O0l48 =01= ols4g Xg
312,000,000 14 312,000
Ots2E X2 AR K& 1,301,269 385,450 915,819
= 910,888
= 117,114
Al 213,267
301 LPBNZ 1,301,269 385,450 915,819
= 910,883
& 117,114
Al 273,267
01 AISIBE A 2GS (2 LEZME) 1,301,269 385,450 915,819
OOtsLE XAz K&
1,301,269, 000& * 14| 1,301,269
= 910,883
& 117,114
Al 273,267
ots=al XA 900 900
201 L2 AH| 900 900
01 AtR2elt] 900 900
osgsg 900




M
X ZH -
o=

=Lk

2 - OISXIE (A2SX/2])
Ots=X X2

SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
N EENE ey,
100,000& x99 * 13| 900
SIS Ots=4 857,375 812,250 45,125
& 857,375
301 LB F 857,375 812,250 45,125
& 857,375
02 MBI EZASHS(HUAS, RLTHA) 857,375 812,250 45,125
Ogh|=s Ot=sgal
9,500 *950H x5 857,375
= 857,375
2&srs OtszA 771,120 771,120 0
& 231,336
Al 539,784
301 LPENF 771,120 771,120 0
= 231,336
Al 539,784
02 MBI 2EAHS(HUAHS, NSTHA) 771,120 771,120 0
OgsrE Ols=24 771,120,000& * 14! 771,120
= 231,336
Al 539,784
ZA0ts S4 197,100 197,100 0
& 59,130
Al 137,970
301 LPENZ 197,100 197,100 0
& 59,130
Al 137,970
02 MBI EZASHS(HAAS, RLTHA) 197,100 197,100 0
OZAl0ls 34 197,100,000 14 197,100
& 59,130
Al 137,970
Bl SEHIAHAER KR 30,720 38,400 AT,680
= 9,216
Al 21,504
307 212+01 A 30,720 38,400 AT7,680
& 9,216
Al 21,504
11 Al SXAMEES 30,720 38,400 AT7,680
O&BI|= SEHAER}
30,720,000& =100 2 30,720
& 9,216
Al 21,504
oglole tl==0| etote 40,000 40,000 0
307 QIZt01 A 40,000 40,000 0




M 6=
& ots=X

S=A1 A (S &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
04 QIZESHAAIZS B X 40,000 40,000 0
ooglole 214=0| eorg
20,000,000 *2IH 2~ 40,000
CIHEtH SS A e1dl XI& 464,000 468,000 24,000
= 232,000
& 69,600
Al 162,400
307 QIZt0I A 464,000 468,000 24,000
Ay 232,000
T 69,600
Al 162,400
05 IZte e 3 464,000 468,000 24,000
OCHEH =S At ezl XI&
464,000,000 *14] 464,000
ax 232,000
& 69,600
Al 162,400
CHEH =3AtY 23d| XI& 72,000 74,000 A2,000
ax 36,000
& 18,000
Al 18,000
307 212+01™ 72,000 74,000 A2,000
ax 36,000
& 18,000
Al 18,000
05 QIZtRIEr 72,000 74,000 A2,000
OUEH =sSAE 2381 XI&
72,000,000 14| 72,000
= 36,000
& 18,000
Al 18,000
CHEH S8 MY 29 (XHAI) 174,960 173,960 1,000
201 B2 AY| 1,000 0 1,000
01 A=R2teld| 1,000 0 1,000
o2g+Y 1,000
ot HESHEH EX 48RS S &
MG 100,000 10 *13| 1,000
307 212+01 A 173,960 173,960
05 QIZtRIEr 173,960 173,960
OUEMN =sSAY 2 (XHAl)
160,520,000 * 14 160,520
OUEHE=sSHEH SAHA E8Y
13,440,000 3 * 14! 13,440
OtsEIStEAl =4 24,220 25,770 A1,550




ofl
i’
oF
uJ

A1,000
21,000

2,450

2,450

A3,000
A3,000

10,370
10,370

ro[El=
ol &Y

15,400

15,400

16,140

13,500

3,646,800

9,370
9,370
3,070

1,000

0l &y

570
1,500
6,300
1,400
2,400
1,500
1,000
2,450
2,450

2,450
12,400
12,400
12,400

5,500

6,900

3,646,800
16,140

13,500

386,138

3,260,662

Al

13,500

2,640

1,000,000& 14

01 AtS2t2ltl

30
0B

)

3

5

2

3

570,000 *14]

1,500,000 * 14!
ACH

T o

100,000& 12 +2
100,000 x5 H +2

25,0002 +30H 2

100,0003 14 ZH *1

M
[SAl AREOIN A 4Y

2 &
[=ln]

=
=

2|

3

&

t

oOtSEIRTAl =8

o0ts
=0ts

14 J|Et

A
LA

&

4

2,450,000& 14
5,500,000 «14!
6,900,000 * 14!

2|

=

=]

307 212t01&

S - B - SR(3) - NRAY - BES

X
[

Kk 3

olglord,

OA&ols RI2(4,

Ols=XAIE 23X

2,640

3,630,660
3,630,660

1,200

1,440

3,630,660

386,138
3,244,522
3,630,660
3,630,660

Al

=l
Al
Al

2

2|

=

0,660,000 *1

OS2

3
,63

50,0003 x6 & 22 +2
30,0003 * 16 +3 %1

X e
3

i}

t:l/e)r
307 QI2t0|™
Hl)

OOtSEXIAIE 2gHI(2

OO0tEs=XAIE SALR

OAIE0tE At




8% - OtS KA (AESXI/
S=A XE EER=E))
H - B8 . e21(31) - HRAY - BES Ol ke e HlmS2
& 386,138
Al 3,244,522
BE30ts 88 2% 281,088 269,880 11,208
= 112,435
= 50,59
Al 118,058
307 gIztol ™ 281,088 269,880 11,208
= 112,435
& 50,59
Al 118,058
10 Al = XAIEEHE 281,088 269,880 11,208
0850t 0
281,088,000 * 14! 281,088
= 112,435
& 50,595
Al 118,058
230ts 88 42,000 62,320 A20,320
= 12,600
Al 29,400
307 2I2+0l™ 42,000 62,320 220,320
= 12,600
Al 29,400
10 AlSISXIAIEE S 42,000 62,320 220,320
ORE50IS QI A,
OFSXI&) 42,000,000 14! 42,000
& 12,600
Al 29,400
tHoloHots2H 23 496,988 356,577 140,411
= 198,792
& 59,640
Al 238,556
307 QI2tol M 496,983 356,577 140,411
= 198,792
= 59,640
Al 238,556
05 QIZtRES 496,988 356,577 140,411
OstiiIlolOtS & E (01,001 29
248,494,000 *20H 2~ 496,988
= 198,792
= 59,640
Al 238,556
CHIloH Ot S & & 19,680 9,840 9,840
& 5,904
Al 13,776




M HEIEL
M B OISKA(AEIEX/ER)
=elr Ol S=A A2 (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
307 2I2+0l™ 19,680 9,840 9,840
& 5,904
Al 13,776
05 CIZtAEr 2 19,680 9,840 9,840
OsttiIlaiotsa e AN S8 - fIgsY
19,680,000 14! 19,680
& 5,904
Al 13,776
dAHEXS0ts XA 16,950 18,000 21,050
= 11,865
& 1,525
Al 3,560
307 212+01 ™ 16,950 18,000 21,050
= 11,865
= 1,525
Al 3,560
1 ABIS XA EE 16,950 18,000 21,050
OFHHTISOLS TIBIXIR (MBI ALY 2
2l) 16,950,000 & 14 16,950
= 11,865
= 1,525
Al 3,560
olsstiEs X 16,260 16,260 0
201 LBt2AH| 10,460 9,960 500
01 AlR22lH 8,500 8,000 500
CEIEIE= =1 2,500
oAE OlSES Y W 2% U 9
2,000,000& * 14| 2,000
oOrS&tt mai(2a)orts Es 2272
500,000& * 14| 500
Oo2g=¢ 6,000
SANZHSIA A Blo] BASY
100,000& 5 *123| 6,000
02 S=29| 1,960 1,960 0
O=322 % MAl 960
oOlSE AR SUNS SAZ(L6)
40,0003 =201+ 123 960
OX+gr - Heh| 1,000
o0tsEs P FE& U KXY
1,000,000 *14] 1,000
202 0441 4,800 4,800
01 =2LHO4] 4,800 4,800
OO0tSSEAF 2 Atefl2e] &0l
20,0003 x4 H+52U«12& 4,800
307 212+01™ 1,000 1,500 A500




2N

M B OISKA(AE=EX/ER)
=elr Ol S=A A2 (Cte M)
5 SIE!
SA - B G(3) - NEAY - BES Ol bt e imE==
01 22 & 35| 1,000 1,500 AB00
Os=tiiuloiots K& 1,000
oS Ildhots XA (X=Hl ¥ LRHI)
500,000 x 14! 500
oSHHTIGHOtS KA (SAH])
500,000 & * 14! 500
OIsESdEI I 83 49,903 46,3838 3,515
308 AXISHMSOIN 49,903 46,3838 3,515
07 XIXIEH 2t REZ 49,903 46,388 3,515
OOIEREHSIIR 29 2oz
49,908,000 14! 49,903
OtsE2S MY 20,000 20,000 0
= 16,000
= 1,200
Al 2,800
201 B2 AL| 1,580 1,080 500
s 1,264
= %
Al 221
01 At 22|l 500 0 500
O0ts-2EXaE a=tl & 2223 M
& 500, 0002 #1141 500
2 400
= 30
Al 70
02 32| 1,080 1,080 0
O0tsES H2Fd SUd3e SKlz
45,0003 =201+ 12& 1,080
s 864
& 65
Al 151
202 04d| 6,000 4,800 1,200
s 4,800
& 360
Al 840
01 =LHO4 b 6,000 4,800 1,200
OsESHERE HRFX 0| 6,000
o AteflZel =&
20,0003 x2H 10« 12& 4,800
= 3,840
& 288
Al 672
ollsEsdEeR 21 ¢ FIASE
A 0| 600,000 x2H 1,200
s 960




2N

FH: 2= - Ot SXIE (ME=X/ER)
o9l OlE=X X2 (crol: el
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
=S 72
Al 168
301 22N = 12,420 14,120 A1,700
= 9,936
=S 745
Al 1,739
01 Al E2E AL S(FRDEXA) 12,420 14,120 A1,700
230ls AHIA 23| 12,420
o250tE 7Yl X
200,000& *12H 2,400
[ 1,920
== 144
Al 336
SHB0IE MHIASH HIZH]
200,000& *12H 2,400
= 1,920
== 144
Al 336
o250t JIEHKIE 7,620
~ANEYAT Z8HY|, YALSHIR S
1,620,0002 %14 1,620
s 1,296
= 97
Al 227
-B50lS YSAE HAS 98 287
=] 20,0002 +300 6,000
[ 4,800
= 360
Al 840
MESE0ts NAE 335,400 396,880 A\61,480
=S 39,420
Al 295,980
301 LEt2 NS 335,400 396,880 261,480
== 39,420
Al 295,980
02 MBI 2HHSFHS(FHAANS, XLHE) 335,400 396,880 261,480
OINFIASHT 2123
14,400,000 * 14| 14,400
= 4,320
Al 10,080
OINESIEOIE (hEt RIS
1,500,000 x6H 9,000
== 2,700
Al 6,300




2N:

M B OISKA(AEIEX/ER)
=elr Ol S=A A2 (Et9 &2l
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
OIE/AE NI HE M ==HI
6,000,000 * 14| 6,000
= 1,800
Al 4,200
OJE=IE0ls &= K&
306,000,000& * 14! 306,000
& 30,600
Al 275,400
HELEOts dolE2dz A& 5,824 5,824 0
= 4,077
& 524
Al 1,223
307 212+01™ 5,824 5,824 0
= 4,077
& 524
Al 1,223
06 22 5,824 5,824 0
OJtERAE0ts doli2EE X&
5,824,000& * 14! 5,824
= 4,077
& 524
Al 1,223
IIESIEolE ARIXI2H XI” 4.400 4.400 0
= 3,080
& 3%
Al 924
301 LPENZ 4,400 4,400 0
= 3,080
= 3%
Al 924
01 ABI BRI 2(2DEEML) 4,400 4.400 0
OJIE2IE0ts AlelXi=dl X
4,400,000& 14! 4,400
= 3,080
T 3%
Al 924
NEAERNAEH 29 29,642 27,160 2,482
308 AHXIHMSOIH 29,642 27,160 2,482
07 XXISHZ2t RS2 29,642 27,160 2,482
OIELKEXJHEH 22
29,642,000 3 14| 29,642
MZ0otsE25H| K& 12,000 28,500 A16,500
= 8,400
& 1,080




M HEIEL
M B OISKA(AEIEX/ER)
=elr Ol S=A A2 (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
Al 2,520
301 LPENSZ 12,000 28,500 A16,500
= 8,400
& 1,080
Al 2,520
01 Al B&X2HZ2(2REERTA) 12,000 28,500 A 16,500
OF20tsESHl XA
12,000,000 14! 12,000
= 8,400
& 1,080
Al 2,520
A0S IIEXNJA(LLHIEXH) 164,948 181,748 A 16,800
| 115,463
& 15,007
Al 34,478
301 LetENZ 164,948 181,748 A 16,800
| 115,463
& 15,007
Al 34,478
01 AISIBEH 2GS (2 LETME) 164,948 181,748 A 16,800
OFYLOIS 2T 22X
18,648,000 & * 14! 18,648
| 13,053
& 1,678
Al 3,917
OYYOIS US4 N2
141,600,000 * 14| 141,600
| 99,120
& 12,744
Al 29,736
ogadl= 2,700,000& * 14 2,700
| 1,890
& 405
Al 405
Oge=sta 2,000,000& * 14| 2,000
| 1,400
& 180
Al 420
AN Ols 23H| RIA 12,000 12,000 0
= 8,400
& 1,080
Al 2,520
301 LPENSF 12,000 12,000 0
= 8,400




FA: HEIoED
&5l ots=EX

S=A A2 EER=E))
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
T 1,080
Al 2,520
01 AISIBE X 2GS (2 LEZME) 12,000 12,000 0
OYSHAOIS 2SH| X
12,000,000 * 14! 12,000
= 8,400
T 1,080
Al 2,520
25320t NEEES 100,000 170,000 A70,000
= 30,000
Al 70,000
301 LEBNZ 100,000 170,000 A70,000
& 30,000
Al 70,000
02 MBI EZASHS(HUAS, RLTHA) 100,000 170,000 A70,000
OESER0IS NYHHI
10,000,000 10X 100,000
& 30,000
Al 70,000
23E=0ts NE=E X2 507,320 456,000 51,320
= 355,125
& 45,658
Al 106,537
301 LB F 507,320 456,000 51,320
= 355,125
& 45,658
Al 106,537
01 AISIBE XS (2 UETME) 507,320 456,000 51,320
OBs&=0ts MHE=Y
507,320,000& * 14! 507,320
= 355,125
& 45,658
Al 106,537
2= X 74,137,243 73,782,170 355,073
= 34,613,462
& 26,098,092
Al 13,425,689
S3EHN2I0IE SGUI(HEAID) 841,317 841,317 0
& 630,988
Al 210,329
307 212+01™ 841,317 841,317 0
T 630,988
Al 210,329
10 Al S XA EHE2FHIE X 841,317 841,317 0




M HEIEL
M 22 OIsSKI(AMSEX/ER)

ool B8 X (S &)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
O=380e0ld 22|
841,317,000& » 14! 841,317
= 630,988
Al 210,329
H=80e0ld 22 X 250,000 298,000 48,000
307 212+01 ™ 250,000 298,000 48,000
10 Al SXAIEHE2EHIEX 250,000 298,000 A\48,000
O =80el0l& 2LYI(XAl)
250,000,000 14 250,000
218 2SS a0l 2| 109,500 109,500
307 gIztol 109,500 109,500
CNEEYEEEEETEES 109,500 109,500
022 FLES 0RI0IT 2|
109,500,000 * 14 109,500
HR2I02I0lE 29 XA (ZhHl) 25,200 25,200 0
& 7,560
Al 17,640
307 212+01™ 25,200 25,200 0
& 7,560
Al 17,640
10 AlSISEXAEHE2ZHIEX 25,200 25,200 0
S0l 29 43t XIJ
25,200,000 3 14 25,200
= 7,560
Al 17,640
OElol& HErs| AL 10,000 10,000 0
307 212+01 A 10,000 10,000
04 CIZISHAIAIRIE & 10,000 10,000
ONeold HEtal AL
10,000,000& *13l 10,000
OElold Esndd 2342 ¢ 10,000 10,000 0
307 gIztol ™ 10,000 10,000
04 QIZHHAIAISE E X 10,000 10,000
OEB=sudA 289 &
10,000,000 & 14 10,000
O=Al 238 AU=01H 29 86,982 49,715 37,267
101 QI t| 40,677 33,035 7,642
M IItHZ2ESES 40,677 33,035 7,642
OB2E AUIS0IE 22HI(BLY) 30,533
ool 80,2401 #52 5527 20,863
e 80, 24011 * 1 2L x50 4,173
MBI BAELY
7,680 x1H 6«52 2,397
oA EEZ 3,100,000& * 14 3,100




2N

LR :
©9lr =25 A2 EERE:)
SN - FH . C(3) - MSAY - BAS Ofl bt e MimE=t)
O=Zz8 dU=0lE oA8I(F) 10, 144
ool 80, 2402221 U527 8,345
oMEAUD BHELY
7,680 x2H x 1 x50 79
OAIIEEZ 1,000,000& 14! 1,000
201 LE2AHH| 43,305 16,680 26,625
01 AtR2t2|8l 16,177 8,280 7,897
Ogbt4=-2Y| 4,000
OANRES 1,000,000& =14 1,000
CHASE U BN S 7Y
2,000,000& *1A 2,000
o=2B=E & MH 1,000,000 = 14! 1,000
o9 600
SIIZHHIZ2Z2 X IHE MAIE
100,000& *3H x23] 600
Ooexts 2,523
oldz4J| U= 30,9003 10122 371
oZJ|IEFI| LUz
28,9003 x4 x 128 1,388
oHl|d U= 15,900& *4CH = 128 764
Oze| 29| 9,054
oAIH=0IH &$HHE AS
300,000 *43| 1,200
o A& RolgAH]| 104,500 = 12& 1,254
oAbiotMEte 22
150,000& 128 1,800
oXdI|otMEe| BA
100,000& x 128 1,200
o QLA IAg2 Y
300,000+ 12& 3,600
02 S32Z| 27,128 8,400 18,728
O3322 % MA 7,128
olMIIRE 500,000+ 12& 6,000
oENRE 44 00028 128 528
oit - olxE 22 50,0008 x12& 600
OAIZ &I AIB] 20,000
o=0IAl8 Y ASRA 22|
10,000,000& = 1A 10,000
oHIZ=&Y Sl
10,000, 000& =14 10,000
405 KHAHRI S| 3,000 3,000
01 AL 2 EF S| 3,000 3,000
OXt & EEF SHI 3,000
oZ228 Al=0Ie 2ZHIE 2L
2,000,000& =14 2,000




M HEIEL
M 22 OIsSKI(AMSEX/ER)
celr 28 X

SH - B C9l(8H) - NISAY - BaS Ol ke e
czZzE AUS0lE Zu2 2
1,000,000 14 1,000
FSOIEEAHEH 2RLUSAE (HEAIY) 20,000 20,000
& 20,000
307 gIztol ™ 20,000 20,000
& 20,000
05 QIZtRIEIS 20,000 20,000
OR0ISEXNHH IFE= XA (RR20S
Ared) 20,000,000& *14! 20,000
= 20,000
FO0ISEAI2HE XA 538,200 598,200
307 QI2Hol A 538,200 598,200
05 QIZtRIEIS 598,200 598,200
OLNFZ ASHD (028 PSKUM,
At 68,200,000& 14! 68,200
OS0tESERdH 29 XA
530,000,000& » 14! 530,000
CHXI WAL Q124H] KR AMS 3,633,851 3,633,851
= 2,130,711
= 952,998
Al 550,142
307 2I2+0l ™ 3,633,851 3,633,851
= 2,130,711
& 952,998
Al 550,142
05 QIZtRIErZ 496,000 496,000
OUM AL 2124H] XI&
496,000,000& » 14! 496,000
= 248,000
& 74,400
Al 173,600
10 AlZISXAEHE2EHIEX 3,137,851 3,137,851
SADA X 3,137,851,000& 14 3,137,851
= 1,882,711
& 878,598
Al 376,542
OE0I& THXIAF SAER =S 12,600 12,600
= 3,780
Al 8,820
301 LBENF 12,600 12,600
= 3,780
Al 8,820
14 JIEt2 43 12,600 12,600




2N

I‘IiH:

O#“ﬂ ot

- OtS KR (AZIEXI/E=)

ciel: WS (el & e)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
OO0l CHMIWAL SAL =2
50,0003 218+ 12& 12,600
= 3,780
Al 8,820
ogold 29 K& 264,500 156,438 108,062
= 158,700
= 74,060
Al 31,740
307 212+01 A 264,500 156,438 108,062
= 158,700
= 74,060
Al 31,740
10 AlRIZEXAIEHE 2FHIE X 264,500 156,438 108,062
OO0I2I0IR RMBTHI X2
87,500,000 & 14! 87,500
= 52,500
& 24,500
Al 10,500
Ox2gdl(s0E, ZHotE2) X2
67,200,000 * 14! 67,200
= 40,320
= 18,816
Al 8,064
O=s0HE ATH Helel0lE X
9,000,000 14 9,000
= 5,400
= 2,520
Al 1,080
SENE I
100,800,000 * 14! 100,800
= 60,480
= 28,224
Al 12,096
o2lold 2g X2 (&=dl) 3,675,584 3,564,146 111,438
& 2,186
Al 2,733,398
301 LPENZ 1,816,860 1,815,900 960
& 436,629
Al 1,380,231
02 AN 2EH>HS(HUAHS, NYTHA) 1,346,340 1,346,340 0
O35M RtHB=Z (012 IIFe0ld) X
1,346,340,000 3 14! 1,346,340
= 336,585
Al 1,009,755
14 JIEt2 43 470,520 469,560 960




M HEIEL
M 22 OIsSKI(AMSEX/ER)

ool B8 X (Cte M)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
OOt - HOJOLESOZI0IY SAK SE+
g 100,0003 x42E « 12& 50,400
< 15,120
Al 35,280
OHONOIESORI0IE XIBAF MM
A& 150,000 x5 * 122 9,000
= 2,700
Al 6,300
002101 BSUHY =X+ K2
411,120,000 x14] 411,120
< 82,224
Al 328,896
307 elzto| & 1,858,724 1,748,246 110,478
= 505,557
Al 1,353,167
10 Al SXAAEEE 22X 1,858,724 1,748,246 110,478
OAIEt2(018I01E Atef2dd] XA
200,000 x48CH*12& 115,200
== 34,560
Al 80,640
OO0t - HOIOFESOIZI0IE & - Lhety] Xl
2,720,000 *14] 2,720
= 816
Al 1,904
OHOHOIMZ0el0ld S&IIAF 21248] XI&
50,311,000& x14! 50,311
== 16,093
Al 35,218
oglzt - Jtd0oielold £eld l2d| X2
524,993,000 x14] 524,993
= 157,498
Al 367,495
O0ielold e =gl A&
1,041,200,000& *14] 1,041,200
== 260,300
Al 780,900
OFRXHAIE Felgt B4
124,300,000 * 14| 124,300
= 37,290
Al 87,010
SEAMHIA XE H&t 3,683,183 3,724,232 A41,049
301 LA 1,174,800 1,174,800 0
14 0Bt 2a3 1,174,800 1,174,800 0
OOIRI0IT DY Sy

950,000,000 %14 950,000




FA: HEIoED
FH: 2= - Ot SXIE (ME=X/ER)
ool B8 X (S &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
OESuAt FI2&5+=2(812t - JHd)
30,0002 «180H 122 64,800
OOlRI0IE DRY FEAY
50,0003 *1,600H <23 160,000
307 el2to| & 2,508,383 2,549,432 241,049
06 28= 97,99% 97,99% 0
O0el0ld HNSHEE ot A&
97,995,000 * 14! 97,99%
10 Al2ISTIAIEEE2HIEX 2,310,388 2,351,437 241,049
O=A - HAI0R0IE 2&IIAF 12|
882,640 x3H « 12 31,776
Ooglt - J1E0el01y X2l
200,000 *79CH* 12& 189,600
Ooelold ¢ - el Xia
67,200,000 *14! 67,200
OA72 0el0ld 0~1AIet 28| XIS
406,812,000 x14] 406,812
OgIZt- JtENE0IE 2&IIAF IAHI(2 )
200,000& «357 A x 12 84,000
OZRXNEAE EFWAL 12| A&
250,000 x115E « 128 345,000
OHRXEAE 288 X2
100,000,000 * 14! 100,000
O0elold 222 SEE3H 2
816,000,000 x 14 816,000
O0=& 0elold etg 2gH| XA
30,0003 #7508+ 128 270,000
11 AMRISXAIEEES 100,000 100,000 0
K0t MESY X
100,000,000 *14] 100,000
SFuAE el2dl X2 11,628,067 11,628,057 0
= 6,976,834
< 3,255,856
Al 1,39%,367
307 elztol & 11,628,067 11,628,067 0
= 6,976,834
== 3,255,856
Al 1,39%,367
10 Al2ISTIAIEEE 22X 11,628,067 11,628,057 0
O0elolE w2 14| X
11,628,057,000& x14] 11,628,057
= 6,976,834
== 3,255,856
Al 1,395,367
AZIMESHHIA HISX 672,228 672,228 0
= 336,114




2N:

X ZH -
o=

ool B8 X (Et9 &2l
RN B - SRA(SH) - MISAR - BES 0fl &t e HIDEY
S 168,057
Al 168,057
301 22N = 98,000 98,000 0
= 49,000
= 24,500
Al 24,500
01 ARSI EE A 6IZS (2 RDEXTHR) 98,000 98,000 0
OAZtHIE=EZ XI&
98,000,000& * 14! 98,000
= 49,000
= 24,500
Al 24,500
307 212+01& 574,228 574,228 0
= 287,114
= 143,557
Al 143,557
10 MEISXAIEHE 22X 574,228 574,228 0
OAIZIHIEFAMEIA HIE A
574,228,000& 1] 574,228
= 287,114
== 143,557
Al 143,557
EFWANI MM X2 2,201,187 2,201,187 0
= 1,320,712
== 616,333
Al 264,142
301 LeEN= 2,201,187 2,201,187 0
= 1,320,712
< 616,333
Al 264,142
14 DBt 2 A= 2,201,187 2,201,187 0
O=0& 2RIA SZ224
163,817,000& x 14! 163,817
= 98,290
< 45,869
Al 19,658
OuAZReZ &
2,013,203,0002 14! 2,013,203
= 1,207,922
< 563,697
Al 241,584
OuAB22E XI&H|
24,167 ,000& * 14! 24,167
= 14,500




FA: HEIoED
HE: 25 OIS (ME=X/ES)
©9lr =25 A2 EERE:)
SA - ZE - BRA(20) - IRA - B ofl et e HImE2
=S 6,767
Al 2,900
=0t 252 K& 20,000,000 20,000,000 0
= 15,000,000
=S 3,500,000
Al 1,500,000
301 EtE NS 20,000,000 20,000,000 0
= 15,000,000
= 3,500,000
Al 1,500,000
01 Al EE A S (2 RNEEA) 20,000,000 20,000,000 0
OE2H B2 20,000,000,000& x14] 20,000,000
= 15,000,000
= 3,500,000
Al 1,500,000
3-5M =l 12,988,516 13,632,845 N\B44,329
=S 12,988,516
301 EtE NS 10,140,000 10,140,000 0
= 10,140,000
02 ARSI E2E AT S(FIANS, XLETHE) 10,140,000 10,140,000 0
OB35M ESS(ALRSHERES)
10, 140,000,000 *14] 10,140,000
< 10,140,000
307 @12t0| & 2,848,516 3,492,845 A\644,329
== 2,848,516
10 AlISAAIEEE 22X 2,848,516 3,492,845 A\644,329
OFeltd 298], MRMEH(XL I
HDe2) 2,200,000,0002 % 14! 2,200,000
=S 2,200,000
O3-4Ml SAHl A (NLUSHEWES)
254,179,000 x 14 254,179
S 254,179
O5Ml E=2(S4lH1) NS (NUSHE
mEsr=)) 394,337,000 x 14 394,337
= 3%4,337
=g X2 422,853 1,242,400 A\819,547
= 317,140
== 73,999
Al 31,714
301 22N = 422,853 1,242,400 A\819,547
= 317,140
=S 73,99
Al 31,714
01 Al EE AL S(FRNEXA) 422,853 1,242,400 A\819,547
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Ha:
ool 28 X9 (Cre): &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
O0elold ololgots JHiEdsY K&
422,853,000 *14] 422,853
= 317,140
& 73,999
Al 31,714
22=0 X2 11,164,335 11,164,335 0
= 8,373,251
& 1,953,759
Al 837,325
301 LPBNEF 11,164,335 11,164,335 0
= 8,373,251
& 1,953,759
Al 837,325
01 AISIBE XS (2 UETME) 11,164,335 11,164,335 0
OR2=0 XA 11,164,335,000& * 14! 11,164,335
= 8,373,251
& 1,953,759
Al 837,325
825 odg 25 19,150 45,350 A26,200
201 L2 AY| 7,000 8,200 21,200
01 A=R2teld| 7,000 8,200 A1,200
ogsrgH| 1,000
CHSHMIARAL| U LETHT AR
5l ARRR L 29l S
1,000,000 *14] 1,000
Oo2g=< 6,000
oHSZMRRG Y FEAHTELORIR
3 BN Y 100,000 12 53| 6,000
202 O4H| 7,700 7,700
01 =LHOdH] 7,700 7,700
Onelold N&&EH ¥ dXI8d ol
20,0003 x4 503 4,000
O0el0ld SHEEH(UXEA)
50,000 *3H x2 2 x33] 900
ONglold JIsE2 ¥ AUs0IH & =
el 20,0003 *4H *353] 2,800
301 LB F 4,450 4,450
11 HAFAHI KR 2 4,450 4,450
OE=0llisl &L bl 24
30,0003 *40F *13 1,200
ONelold |& AXg &I AH 24
50,0003 x65F 13 3,250
HdetdE-0=Al EM JIE2E 1,820,000 0 1,820,000
& 910,000
Al 910,000




M HEIEL
M 22 OIsSKI(AMSEX/ER)

ool 28 X9 (Cre): &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
301 LB NEF 1,820,000 0 1,820,000
& 910,000
Al 910,000
2 A BEHHZ(FHAAHS, KYHA) 1,820,000 0 1,820,000
OBBILE-GIHAl B4 I g
260,000,000 «7& 1,820,000
& 910,000
Al 910,000
HAE AW SH(MII=SX/EHAH) 5,048,647 4,941,064 107,583
= 95,500
J| 9,722
& 269,057
Al 3,734,368
HAE BS Y HAE 24 5,048,647 4,941,064 107,583
= 95,500
| 949,722
T 269,057
Al 3,734,368
AW H2ZRE 146,000 146,000 0
= 73,000
& 21,900
Al 51,100
308 AtXIHMSOIH 146,000 146,000 0
= 73,000
= 21,900
Al 51,100
13 BI |2 SUICHEH B A E L EFALZH] 146,000 146,000 0
OFAE HAXA(HEHAE AMEE X
) 146,000,000 * 14 146,000
= 73,000
= 21,900
Al 51,100
HadE SEXJ 18,571 18,571 0
J| 13,000
= 1,857
Al 3,714
301 LEBNZ 18,571 18,571 0
| 13,000
& 1,857
Al 3,714
01 AISIBEE 2GS (2 LEZME) 18,571 18,571 0
OdAL4E SEXIA 18,571,000 & 14! 18,571
| 13,000




M HEIEL
B HAE AW SH(AE=X/HAG)
o HAad B85 4 HE 54 (S &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
T 1,857
Al 3,714
HAEER Ots2=H| XA 42,000 96,000 254,000
= 21,000
Al 21,000
301 LPBNZ 42,000 96,000 254,000
= 21,000
Al 21,000
01 AR B& X2 (ZREETA) 42,000 96,000 254,000
OFALEHRER Ots2sH| XA
42,000,000 *14] 42,000
= 21,000
Al 21,000
HAE A 198,484 19,218 2,266
= 27,876
Al 170,608
307 212+01 A 198,484 196,218 2,266
& 27,876
Al 170,608
05 QIZtRIEr 198,484 19,218 2,266
OFAHE AG=EXME S (KHM)
105,563,000 * 171 A 105,563
OFAY A=Y 22
92,921,000 *1JH 2 2,921
= 27,876
Al 65,045
KA HAESSXNJANA 25 102,000 100,102 1,898
| 51,000
Al 51,000
307 212+01™ 102,000 100,102 1,898
J| 51,000
Al 51,000
05 QIZtRIErZ 102,000 100,102 1,898
OXG At HAESEANAMA 2=
102,000,000 * 170 2 102,000
| 51,000
Al 51,000
HAEASE} T2 29 80,712 77,768 2,944
| 40,356
Al 40,356
307 212+01 A 80,712 77,768 2,944
J| 40,356
Al 40,356
05 QIZtRIErZ 80,712 77,768 2,944




A HEItE

I HAE AW SH(ASIST/FAE)
el 344 B 2 2HA |4 (S &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
OBAESEN T2 29
80,712,000 *1JH 2 80,712
| 40,356
Al 40,356
s g 3AE XA 175,740 151,334 24,406
| R,217
= 33,000
Al 50,523
307 212+01 A 131,740 129,334 2,406
| R,217
Al 39,523
11 AR SXAMEER 131,740 129,334 2,406
Ot % HAE X
131,740,000 * 171 2 131,740
J| R,217
Al 39,523
308 AXIEHMSOIN 44,000 22,000 22,000
= 33,000
Al 11,000
13 BI |2 SHICHEH B A E L EFALAH] 44,000 22,000 22,000
Ostn 5 #3449 09 K&
44,000,000 10 2~ 44,000
& 33,000
Al 11,000
st g AW ZAH X3 11,880 11,528 352
J| 5,940
Al 5,940
307 2I2+01™ 11,880 11,528 352
| 5,940
Al 5,940
11 Al SXAMEE X 11,880 11,528 352
Ostn g #AE ZAlH X
11,880,000 =14 11,880
| 5,940
Al 5,940
FaERofEd ZAH X2 3,000 3,282 A282
= 1,500
& 450
Al 1,050
307 212+01 A 3,000 3,282 A282
= 1,500
= 450
Al 1,050
02 QI B AAIEER 3,000 3,282 A282
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M
X ZH -
o=

=Lk

A= D

SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
oZz - ot BOj 24 9lEF S
50,0003 #4H 200
OO0tz StWES (lgns ZAY
100,000 10 93| 9,000
HAENSE0E X2 (XA 35,000 35,000
307 212+01™ 35,000 35,000
11 Al SXAMSEES 35,000 35,000
OFAHSE 0 X2 (XHA)
35,000,000 *14! 35,000
dAoUElH 23KX2 671,319 621,319 50,000
| 310,660
& 93,198
Al 267,461
307 212+01™ 621,319 621,319 0
| 310,660
& 93,198
Al 217,461
10 Al =S XA EEER2IHIE X 621,319 621,319 0
O EAEEEH 29
327,886,000 * 171 2 327,886
| 163,943
& 49,183
Al 114,760
OW=gAe|IZ3AEEH 29
293,433,000& * 171 2 293,433
| 146,717
& 44,015
Al 102,701
406 JIEFRH=01H 50,000 50,000
01 JIEFA =01 A 50,000 50,000
Ol EAEEH AXNESS KA
50,000,000 14! 50,000
HLrEEH =K 1,900 1,900
301 LPBNZ 1,900 1,900
02 MBI EERHS(HUAS, RLTHEA) 1,900 1,900
OFLHEH MEX BE IZ23
1,900,000 *14] 1,900
FAUEEH EAFAE NEXE-Y K& 17,600 10,800 6,800
J| 8,800
& 8,800
301 LEBNF 17,600 10,800 6,800
| 8,800
& 8,800
01 Al B&X2H2(2REETA) 17,600 10,800 6,800




FA: 0goED
B HAE AW SH(AE=X/HAG)
ool HAW 95 9 AW 84 (CHol: &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
OHAY 2l g48AE NEIXE +2
17,600,000 * 14! 17,600
p) 8,800
= 8,800
FAEEE SAA SE2E 17,280 18,720 A1,440
= 5,184
Al 12,096
301 EetE2 N = 17,280 18,720 21,440
= 5,184
Al 12,096
14 0Bt 2as 17,280 18,720 1,440
OBAEHE BAK SE2Y
17,280,000 * 14! 17,280
< 5,184
Al 12,096
Faddl oRI22 UM X3 127,786 103,8% 23,891
= 38,336
Al 89,450
307 el2to| & 127,786 103,8% 23,891
= 38,336
Al 89,450
10 AlRISAAIZEHE 22X 127,786 103,89% 23,891
OFaY & 022 UMeE
127,786,000 * 14| 127,786
< 38,336
Al 89,450
HFAEH NS00I 2 621,904 618,188 3,716
Il 300,452
Al 321,452
307 elztol & 621,904 618,188 3,716
) 300,452
Al 321,452
1 AMISAAEEXS 621,904 618,188 3,716
OFAHLNSOIIHION(LEHE)
551,664,000 x14] 551,664
7l 275,832
Al 275,832
OHAEHLWSOIIHION(FLE)
49,240,000 * 10 2 49,240
Il 24,620
Al 24,620
OFAHLN=S0IIIHIOI SAHAH 4UEE Dl
H2E=S 7,000,000 *37H 2= 21,000
BAE-EHAE K& 692,297 692,297 0
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(GESPIEN)}

I HAE AW SH(ASIST/FAE)
el 344 B 2 2HA |4 (S &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
307 @120l & 692,297 692,297
05 elt?(& = 692,297 692,297
OFAUART 29
422,656,000 * 11 £ 422,656
Oblg¥Eadz3od 29
135,016,000 * 10 2 135,016
O02HAERST 2Y
134,625,000 * 11 £ 134,625
HAEXIEAL BIXI XI& 78,960 73,944 5,016
J 23,688
Al 85,272
307 elztol & 78,960 73,944 5,016
Jl 23,688
Al 85,272
05 212t =S 78,960 73,944 5,016
OFadad2t NSTAF HHXI
26,320,000 * 100 2 26,320
) 7,8%
Al 18,424
OllEEAER232E XITAF BHXI
26,320,000 * 11 £ 26,320
p) 7,8%
Al 18,424
OWEEAEEZ32E XI= A BRI
26,320,000 * 100 £ 26,320
) 7,8%
Al 18,424
STEAESEAL Z208 2 XIS (KHH) 24,400 24,400
307 212+01& 24,400 24,400
11 AMRISXAEES 24,400 24,400
O33AdeAg T2 2F(XHH)
24,400,000 * 14| 24,400
II;%*’EM\_E 0017 2 (A2 FA4d BoRI@E 2 2,800 2,800 0
ez}
307 el2tol & 2,800 2,800
10 Al SXAEEHE 22X 2,800 2,800
OXNSHEAE B2 =24
2,800,000 %14 2,800
LA dE3EH 23 173,052 166,280 6,772
J 86,526
Al 86,526
307 lztol & 173,052 166,280 6,772
Jl 86,526
Al 86,526
05 21t =S 173,052 166,280 6,772
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X ZH -
o=

chel:

&L=
AW AW SH(ASISX/FHLE)
AU 95 U AW 84

SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
OFALAUHZHH 29
173,052,000 * 14| 173,052
| 86,526
Al 86,526
HAHHLESIHE 2E (&) 9,200 9,200 0
& 2,760
Al 6,440
307 212+01™ 9,200 9,200 0
& 2,760
Al 6,440
05 IZte e g 9,200 9,200 0
OB A2SHEH SALL S8+ K&
100,000& 5 122 6,000
= 1,800
Al 4,200
OFALFL2SHEH WKEE e X2
3,200,000 * 10 A& 3,200
& 960
Al 2,240
HAUEUXEN RN = X2 80,886 76,908 3,978
& 24,266
Al 56,620
307 QIZt01 A 80,886 76,908 3,978
= 24,266
Al 56,620
05 CIZtRAErZ 80,886 76,908 3,978
OFALEFNEA MRME =& K&
100,0002 61 =123 73,200
& 21,960
Al 51,240
OX2IME =5 40) B2 XAO|22E2
) 7,686,000& x 14! 7,686
= 2,306
Al 5,380
HrAlEAEHYNER 29 1,620,000 1,620,000 0
307 212+01 A 1,620,000 1,620,000
05 CIZtRIEr 1,620,000 1,620,000
OOSABAATHS DR DIty
1,620,000,000 3 14! 1,620,000
DRADEAE HSAelZEelY 34,166 0 34,166
| 17,083
Al 17,083
307 QIZt0I A 34,166 0 34,166
| 17,083




2A: odIE

=

I HAE AW SH(ASIST/FAE)
el 344 B 2 2HA |4 (S &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
Al 17,083
05 2I2t9|Et2 34,166 0 34,166
ORI AW FEyzIZAY 2Y
34,166,000 3 *14] 34,166
J| 17,083
Al 17,083
20l XA (NE/FOILEZESUR) 458,000 458,000 0
SO0t W=I|8 =4 458,000 458,000 0
A& W=3Hl X3 458,000 458,000 0
308 AXISHMSOIN 458,000 458,000 0
08 WFI|Z0HetE = 458,000 458,000 0
OSXH 4=y T2 2 K&
150,000, 00024 150,000
OMZRAY HEUSSDA 2% X
208,000,000 208,000
ORO0F ME2H X& 100,000,000& 100,000
HYSAHHI (G A IS (JIEHIIE 1,212,578 1,257,312 N4, 734
= 530, 171
& 110,158
Al 572,249
ol 2| 1,123,127 1,169,672 246,545
= 530, 171
= 110,158
Al 482,798
CEAEE SeAtdl2el K& o14d| 212,113 191,180 20,933
iy 110,419
& 8,266
Al 93,428
101 e124d| 179,214 160,136 19,078
ax 87,613
& 6,559
Al 85,042
03 SRA(RINHS) 222+ 179,214 160,136 19,078
OEHAEE Ot=SehAtdl2telAt B 179,214
oJlE2g 27,803,2703*4H 111,214
oy 77,094
T 5,772
Al 28,348
o&¥z2=g 1,882,675 *4H 7,531
oY Iitt=
52,5003 x4 =123 2,520
cItEsY 40,0002 +4H*12& 1,920
oXMBH 80,0002 x4H = 12& 3,840
oXgg 200,000& x4F = 12& 9,600




SN OIS
M AHH2HZHI(0GIAIIE1) (DIEH/DIE
ool g E3y| (Sl &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
o HAMZA| 140,000& x4F 122 6,720
o HFAEZ I 2,316,939& x4 *120% 11,122
oUR+Y 112,853 %42 102 4,515
oAlZtel2Rag
21,0753 +4B+20A| 2++ 123 20,232
= 10,519
& 787
Al 8,926
M AIRE3S 32,89 31,044 1,855
= 22,806
& 1,707
Al 8,386
M SRHE(RINHS)2ZX BE828€=2 S 32,899 31,044 1,855
OO0t=sSAtellZelAl 40 28 D12 Y3
2 EEF S 32,898,860 14 32,899
ray 22,806
& 1,707
Al 8,386
XS 0otsHlE OtssSXInAL XI& olAt| 753,899 810,845 56,946
fas 312,936
= 93,881
Al 347,082
101 2124 d| 632,788 691, 131 A58,343
= 252,380
= 75,714
Al 304,694
03 BRA(RIAHL) 22X B 632,788 691, 131 58,343
OOtS=EXIWAHL BWAL THA XI& 599,238
oJllE2a 1,291,660 *315« 12& 480,498
= 240,249
= 72,075
Al 168,174
cHEMNZ 1,291,6603 31 *120% 48,050
o Mg A 140,000 31+ 122 52,080
o AHXt=Y 60,0303 *318* 10 18,610
OOtS SR WAHKIZAIS =S XA XI& 33,550
oJllEgg 1,715, 170319+ 122 20,583
iy 10,292
& 3,087
Al 7,204
&z 171,5003 1Y 172
&Y Itz
30,0003 x 18« 12& 360




M 6=
M HAPAZHI(HAIIED)(JIEH/DIE
ool g E3y| (Sl &)
A - FHY . S2(3) - HRAY - BES Ol ke e HlmS2
oItEAY 70,00024%1% % 122 840
oXP4gt 80,0002 12+ 128 960
oXgsy 200,000 x1H* 122 2,400
o ZAMZAH| 140,000 x1H* 122 1,680
o HEFIH| 1,715, 1703 1B *120% 2,059
oIt g 81,7293 *1H 10 818
oARIIRRAY
15, 3242 *1G+20A| 2t 12 3,678
= 1,839
= 552
Al 1,287
N4 HASREZS 121,111 119,714 1,397
= 60,556
= 18,167
Al 42,388
M SRE(RINHL) 22X BEE€28Y2 S 121,111 119,714 1,397
OOtSE X WAHKI S ALZI S XIAL) 4CTHEE D]
2428z & §EHZ 5,829,810&x1H 5,830
= 2,915
& 875
Al 2,040
OO0ISEX WAHL WAL 4THEE DAY
=2 % 83 3,718,710&+31& 115,281
s 57,641
& 17,292
Al 40,348
Ot=sE2SdERA 21| 157,115 152,194 4,921
= 106,816
= 8,011
Al 42,288
101 @124l 142,115 139,579 2,536
s 94,816
& 7,111
Al 40,1838
03 SR (RIHL) 22X E S 142,115 139,579 2,536
OltsESHERE 212| 118,520
oJllEgs 109,237,000 14 109,237
s 87,390
& 6,554
Al 15,293
oAZ22Z2R+E 9,283,000 14! 9,283
s 7,426
& 557
Al 1,300
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M 6=
A HHRIZHI(WAIEL)(DIE/IIE
oelr Jl=2Zl
SA - B O9I(S) - NRAY - BYS Ofl ko Le

Ofl &tk

(400, 0002+(5, 00021 %22 ) )« 122 4,920
o0 2355|2H47H)
(400,00024+(5, 0002 %17 ) )* 122 5,820




